N & o & AF & H Al A
20198 &= =0l& LB H 2ot
fAH: S2st22 1
M 2302E U NASHIUTS
& 23AIE 2el (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
E ottt 42,903,043 74,519,355 A 31,616,312
= 7,032,056
s 149,000
J| 214,330
Al 8,464,044
s 27,043,613
Zoo=dE ¥ N2 H 8,885,610 18,356,296 29,470,686
Al 371,000
[ia 8,514,610
FStAIE 2tel 5,343,410 14,482,496 29,139,086
Al 73,000
[ia 5,270,410
I+ 29 289,161 247,638 41,523
101 @14l 29,189 53,006 A 23,817
04 JI2ZtHZ22HEE =+ 29,189 53,006 A 23,817
oY+2e 2 2Y(2Y) 29,189
OPIR== 66,8003 x2H x1252 16,700
Osg=+¥ 66,8003 »2H «58 7,749
On st 5,0003 x2H x125 1,250
O= &l 5,0003 x2H 1252 1,250
OPIE=E= 1,440
o B Xt 40,0003 x2H 68 480
ZHl= 80,000& »2H +x6& 960
OZEFOtHI 400,000 »2H 13| 800
201 et 145,772 132,432 13,340
01 At 2teltl 70,572 63,232 7,340
OB+t 45,932
Ocl2d & EE2SM oY & WA
1,000& =10, 0004 10,000
OMRES 500,000& »12& 6,000
OdAd g2es) 220 £X
750,000& *8H 6,000
O&AA A=l 5,000,000 5,000
O8 =9 W 80,000 = 120H 960
Ot2+H== 12,000 x3&+12& 432
OMs=52 25,0003 2CHx12& 600
(OFSIWIRSIFSES Ry 150,000& =12 1,800
OArgHEEHAZ 250,000 23 500
OSeldd & CCTv 22l 89a
300,000& »12& 3,600
Oox&zel 300,000& »12& 3,600
OSMHOIX #XE= 380,000& 122 4,560
OsdJll SN2+ 240,000& 12 2,880




F ottt
2= E L NGRS
FStAIE 2tel (&)
SN HH-S(BN) - MBAY - B il HlnE2
ogxs 4,440
O=AJ| 120,000& = 1CH» 128 1,440
O&=7| 50,0003 = 1CH*12& 600
O3JI1&88 & Hs2l 40,0003 «5CH 128 2,400
Ost=2s 283l A3l 200,000 200
oY+ MBH(ZTAS) M
10& 500 *4,000& 20,000
02 =224l 30,200 1,000
02322 ¥ HAl 25,200
ONIIe3 1,800,000& »12& 21,600
Odol=ER= 150,000& =128 1,800
O&dse3a 150,000& = 12& 1,800
OA&EHl Sl 5,000
Ox2n&2 HE =4 2,000,000& 2,000
OEM S 3,000,000& 3,000
03 &AL Z I 45,000 5,000
02 = 4001 =2 10,000, 000& 10,000
O&ANZZOY o HH A 35,000
2929 =& 20,000,000& 20,000
OFUE =EZHME 15,000, 000& 15,000
301 L2 A F 52,200 0
12 JIEtEA S 52,200 0
O=ZstoH& At =8 50,0003 « 127 «128 16,200
OGAHEZ WA 2 AL
150,000& *80Al 2++3H 36,000
401 AlEHI L2 0hYI 50,000 50,000
01 A& HI 50,000 50,000
OR&Z HA(XY=E ORI 2CH) B4
50,000, 000& 50,000
405 TtakF S| 12,000 2,000
01 AL EFH S 7,000 2,000
OofRs =8(2AM S) 5,000,000& 5,000
O&Il&2t&+I uH 2,000,000& 2,000
02 S A7l 5,000 0
O A7t 5,000,000& 5,000
ST =otE MgEsH X#E 126,064 10,954
Al 10,000
s 116,064
307 gl2tol & 126,064 10,954
Al 10,000
i 116,064
02 IZtE S AHE L 15,710 8,810




SN 22D
M o= E L NI =
& 23AIE 2el (9 ® =)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
oOzstd 29 15,710
O=23std SHOIXl 2el 13,210,000& 13,210
OOt & =2ldl 1,000, 000& 1,000
Ot #xoHd 1,500,000 1,500
03 RIZIEHHHEH2ZHIEX 110,354 108,210 2,144
O=Fstd HE2YH Bx 110,354
OAE=EelAY| 39,702,000 39,702
Al 10,000
s 29,702
OAR &l H| 57,212,000& 57,212
CAHEEMSNEE S 7,440,000 7,440
Ozsd 2g3 S 3o atl 6,000,000& 6,000
S22 2ALE K& 172,000 222,000 A 50,000
Al 63,000
s 109,000
307 2Iztol ™ 172,000 222,000 A 50,000
Al 63,000
s 109,000
02 P MNAHEE 58,000 59,000 A 1,000
o= 23R g 18,000, 000& 18,000
Al 9,000
s 9,000
O+ Hies L2t 23,000,000& 23,000
Al 7,000
s 16,000
O2=23t H19% g2t 17,000, 000& 17,000
Al 4,000
s 13,000
04 QIZFHALAIH B & 114,000 163,000 A 49,000
OdME=2stH 20,000,000& 20,000
Al 13,000
s 7,000
OM10s &2 YHM4 3t 25,000,000 25,000
OHM183 3™ =0l 10,000, 000& 10,000
Al 5,000
s 5,000
OMOHE Dl =0l WM& 13,000, 000& 13,000
Al 5,000
[ia 8,000
O2 otolet nE0I=2x Md 30,000,000& 30,000
Al 20,000
s 10,000
OM19s 2E R s2H 16,000, 000& 16,000
ST Zs0s=s 2 22 2,292,377 1,913,032 379,345
201 L2l 83,000 83,000 0
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2N
X ZH -
L= B

el

St
Fadzsds L NI2aIBR=
23tAIE 22l

SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
404 SANSHUA=2EHES 200,000 0 200,000
01 BA- SEHA=2EEZ 200,000 0 200,000

QY MAIIEH 2Y 200,000, 000& 200,000

SEZA=ENLEH 22 247,964 291,626 AN43,662
101 @124 dl 29,189 31,124 A 1,985
4 DIt Z2XREES 29,189 31,124 A 1,935

O2=2a=XNHEH 2 (29) 29,189
OJles 66,8003 x2H x125 16,700
Osg=+g 66,8003 x2H x58 7,749
Ou SH| 5,000 x2F 125! 1,250
O=&t| 5,0003 x2H x125 1,250
OnExe 1,440

. BHS X 40,000 x2H «68 480
. EHI=S 80,000& »2H 63 960
OZFEFItHI 400,000 x2H x13] 800
201 L2l 116,635 73,662 42,973
01 At 22l 82,475 33,202 49,273

OogBt+=EH| 77,675
ORI ZHIAIAE 300,000& »12& 3,600
OQaEIItd 2| B2 500,000& x12& 6,000
OsZJgtdze|iid 89 250,000& 123 3,000
OLgotdEAZ 150,000& =128 1,800
O 22 HAHES 2,070,250 =12 24,843
OaFstze = 300,000& »12& 3,600
OxZae 92 300,000& x12& 3,600
Oz 8492 300,000& »12& 3,600
OZHO0IX |RA2e Edx3

300,000& »12& 3,600
OARBE ¢ 500,000& x12& 6,000
QA2 F 7Y 1,000, 000& *33| 3,000
OBIZA U B4 42E 7

300,000& »12& 3,600
(OF == 12,000 x3& 123 432
Os2s8 M 1,000& x10,000% 10,000
og3ddH 8 32 7+ 1,000, 000& 1,000

ogxz 4,800
O=AtD| 200,000& »12& 2,400
O& =7 50,0003 ~4CH+123 2,400

02 3323l 34,160 20,460 13,700

03223 % HA 30,160

OoNIIe3 2,000,000& x12& 24,000




2N S22
HdH: 2g0=dE & NASI|ER =
©9l: 2aA4 2l (29 a8)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
O&slx==2=2 150,000& = 12& 1,800
Oske= 150,000& = 12& 1,800
ostdEEg= 80,000& x2& 160
OXNLTHE S H b 2,400,000 2,400
O A& & H|l 7 XYl 4,000
OHdE AM&EZ2 gA 224l 3,000,000 3,000
OARR HExH 1,000,000& 1,000
206 T 2 bl 3,000 3,000 0
01 &2 bl 3,000 3,000 0
oZz ¥ 29 Ml 3,000,000 3,000
301 dEtE A= 13,440 7,040 6,400
12 JIEtE2 &2 13,440 7,040 6,400
oZz ]y 29 LAY
70,0003 *43] 1200 & «4 2 &t 13,440
405 XtabF SHI 85,700 156,800 AT71,100
01 AL 2B F SHI 85,700 136,800 A51,100
OAIRa , Z208A 5 23 U 7Y 85,700
OdEZZHEE(0ls™, D™E) 15,000,000 15,000
OEsA72 (58, 85Y) 46,000,000& 46,000
Oodctgy|(eHAd0lg, 2&d) 5,500,000 5,500
Oo0lsgAnes 760,000 *5H4 3,800
OZZ A A 140,000& = 10CH 1,400
Oeladsa Fl(WdEn, @2, gUxsI|A
s) 12,000,000& 12,000
OLE= 2,000,000 *1CH 2,000
2F MEESHEH &9 125,928 132,370 NB,442
101 @121l 38,506 35,338 3,168
04 JI2ZtH 22 XNEE % 38,506 35,338 3,168
2F MERSHH 29 38,506
oJl=3 66,800 x2H x166 22,178
Osgxg 66,800& x2H »77L 10,288
OuWEH| 5,000& 2% 166 1,660
OZ2 &t 5,000& *x2H 166 1,660
OIESY 1,920
. B X 40,0003 2H x8& 640
. =HIH 80,000& x2H x8& 1,280
OY &SIyl 400,000 2H 13| 800
201 LEt2AY| 70,982 50,832 20, 150
01 AFR2t2ldl 50,672 30,872 19,800
oOgst2H| 47,432
OR oAU AIAE 150,000& = 12& 1,800
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1,800
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3,000
6,000
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5,000
1,000

18,000
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550
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2AMd: 2322
M o= E L NI =
& 23AIE 2el (&)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
OaxFstze 8492 300,000& x5& 1,500
OFMARE Y 1,000, 000& x5 5,000
OHABE S 2SYARE 7Y
200,000& 53 1,000
OFMYALS 2,000,000& 2,000
Otlesss 12,0002 »3&+53 180
OCE2=HM= 1,000& x10,000% 10,000
oz ddlE stz 2 1,000,000 1,000
ogxtz 2,750
O=AHI| 200,000& 53 1,000
O&F =7 50,000& 50«53 1,250
ol 20,000 501 x5 500
02 =224l 54,410 0 54,410
o0z22= & HMA 39,410
odIIe2 6,000,000& x5& 30,000
(OFS el By o= 400,000& 53 2,000
OZAIARZ 400,000 53 2,000
Ostes 650,000& 53 3,250
O RES 80,000 »23| 160
Ogaldl ¥ ZHaltl 2,000,000& 2,000
OA&EHl s Xl 15,000
OAlE=E mX 22/l 10,000, 000& 10,000
Ox2nl2 HE =4 5,000,000& 5,000
03 A2 Z Hl 10,000 0 10,000
OMEF23tdlH Jf2tAl 10,000, 000& 10,000
206 TH 2 bl 3,000 0 3,000
01 M2 4l 3,000 0 3,000
OZzId 2 M=l 3,000,000& 3,000
207 A& H| 40,000 0 40,000
02 & A I 40,000 0 40,000
ONES=Z3tdH SHOIX Ji& 40,000,000 40,000
301 L2 A F 3,360 0 3,360
12 JIEtE4 3 3,360 0 3,360
OxZ2Od 2F ZA=Y
70,0003 43«30 & «4 2 It 3,360
405 XhAHE S 1,400,000 0 1,400,000
01 AL EZFH S 1,400,000 0 1,400,000
OAR4A T2 A OSHA MAIA, SAHY
s dJlb&E #¢ 1,400,000
OAMSIF(HOIE, 4T, AARES &, Xt
, MY S) 200,000, 000& 200,000
ORU, 88, 23 &Y 1,100,000, 000& 1,100,000
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EX: S22
HE: SHMEIE L VAL TS
& 23AIE 2el (cho &)
5 - 4
SA BB (SH) - NRAY - B Ol &F o4 %@i HRE2
OXXHE(HLEED, TV, FEH, A A
Il s) 50,000, 000& 50,000
Omot% 50,000,000 50,000
ANE2sts &= 3,542,200 3,873,800 A 331,600
Al 298,000
= 3,244,200
SFHMAHAA S SHA 2,400,000 2,350,000 50,000
307 giztol A 2,400,000 2,350,000 50,000
05 QIZ2tR E 2 2,400,000 2,350,000 50,000
O2F M AH ML ASHA 2,400,000,000& 2,400,000
HEEEE AFY K& 46,000 71,000 A 25,000
Al 8,000
= 38,000
307 QI2t0| ™ 46,000 71,000 A 25,000
Al 8,000
= 38,000
02 AI2tAAMAIE E =X 46,000 71,000 A 25,000
OMHdEaY HIIAHAFT 16,000,000& 16,000
Al 8,000
= 8,000
OO It S L MIEAAU S
30,000,000 30,000
2F H4HE QHAEZ KNE 5,000 5,000 0
307 2Iz2t0| & 5,000 5,000 0
04 SIZ2ISHAAISH E & 5,000 5,000 0
OFIIAZF3 5,000,000& 5,000
SF AEAHEEE I 5,000 8,000 A 3,000
307 2iz2to| A 5,000 8,000 A 3,000
04 SIZ2ISHAAISHE E & 5,000 8,000 A 3,000
O&IIAF3 3,000,000& 3,000
OO S35 2,000,000& 2,000
2F A QHAEZ N 3,000 3,000 0
307 212t0| & 3,000 3,000 0
04 SIZ2HSHAAISH E & 3,000 3,000 0
OFIIAZF3 3,000,000& 3,000
KIS0 =& AF 1 Z 65,200 94,800 A 29,600
202 04| 2,400 2,400 0
01 2Ll 2,400 2,400 0
o222 o Hl 2,400,000 2,400
203 €2 F=&d| 2,000 2,200 A 200
03 Al ZH =X AR = XH| 2,000 2,200 A 200




2N
X ZH -
L= B

el

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@i HDE
OXNHE2TUH=HA RN 2,000,000& 2,000
204 2242 H| 10,800 10,200 600
03 SEHYRAH| 10,800 10,200 600
OHeI &=t 50,000& 18 x12& 10,800
301 LBt A= 50,000 50,000 0]
12 JIEtE & =2 50,000 50,000 0
OHel&2d9 ol=JF =% 50,000,000 50,000
2HE 2 GHSE0| AL 450,000 450,000 0
Al 200,000
= 250,000
307 2iz2tol & 450,000 450,000 0
Al 200,000
= 250,000
04 QIZ2tSHAFAFS B X 450,000 450,000 0
O2tE =2 oll30l & A 450,000,000& 450,000
Al 200,000
= 250,000
M2 RS SQIBHE HAENY 160,000 160,000 0
Al 80,000
= 80,000
307 QI2t0| & 160,000 160,000 0
Al 80,000
= 80,000
04 CIZ2LSHALALS B X 160,000 160,000 0
OF2 NFORESSAMT HAEY
160,000,000 160,000
Al 80,000
= 80,000
SMAMHHAEY 200,000 200,000 0
307 QI2t0| & 200,000 200,000 0
04 CIZ2tSHALALS B = 200,000 200,000 0
OSMNMHHAEY 200,000,000 200,000
HA HHH? ototHIAEY 60,000 60,000 0
307 QI2t0| ™ 60,000 60,000 0
04 CIZ2tSHALALS B X 60,000 60,000 0
OY A &HI® otol HIAEY 60,000,000 60,000
BB R HLE JIH 50,000 50,000 0
307 2Iz2t0| & 50,000 50,000 0
04 SIZ2HSHAAISH E & 50,000 50,000 0
OAEZ2 HRE JIA 50,000,000 50,000
SAA=Z FH 50,000 50,000 0




2AMd: 2322
HH: 2o0=dE ¥ NG2s0Ie=
&4 XNFEso=zs s (cho &)
SA-ZH () - HRAY - BES Ofl & oH %‘E_ﬁ Hns2Z
307 glz2tol & 50,000 50,000 0
04 DI2HHALALSE E X 50,000 50,000 0
O AL= =X 50,000,000& 50,000
sS4 g0 A=A 35,000 25,000 10,000
Al 10,000
i 25,000
307 glz2+ol & 35,000 25,000 10,000
Al 10,000
i 25,000
04 QIZFHALAIH B = 35,000 25,000 10,000
O B2 =S 35,000,000& 35,000
Al 10,000
s 25,000
MO HAENY 13,000 13,000 0
307 21201 A 13,000 13,000 0
02 IAHFAAHEX 13,000 13,000 0
OX=CtSIHAE Y 13,000, 000& 13,000
st 2l 22,444,361 6,378,887 16,065,474
= 6,982,056
| 64,330
Al 7,621,044
[ia 7,776,931
oM EE2 22,256,959 6,231,795 16,025, 164
= 6,949,500
J| 64,330
Al 7,575,821
s 7,667,308
22 SA 2 397,590 354,476 43,114
Al 170,180
s 227,410
101 14 Hl 196,360 167,676 28,684
Al 98,180
s 98,180
04 JIZHHZ2XRHEE S 196,360 167,676 28,684
O=23Macel 2 196,360
O2stM&elel(9Yy ,88) 196,360, 000& 196,360
Al 98,180
s 98,180
201 Let24dH] 55,640 55,460 180
01 At 22/l 37,860 37,860 0
©F=R<Igat=:]l 37,860
O2stMet el MA 200& 50,0008 10,000
O=2stM 2elz=x 8357 1,000, 000& 1,000




2N S22
M. 2o el
el 2a BERe EEREED
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
O23 M CCTV(440H) 22l & =2X23 M 2
OIFHIEH (7 A) 1,780,000& x12& 21,360
OS2 M MIIHNAER 2
400,000& 400
O23 M &l 430 #¢ 30,000& *207H 600
O23&HMH ot A HIA(NFC) S Xl22ldl
375,000& = 12& 4,500
02 33249l 17,780 17,600 180
03322 % XA 12,780
O3 800,000& x12& 9,600
O&dt=& 22 100,000& = 12& 1,200
Oosdea3 165,000& = 12& 1,980
O M&e A2 FANES 5,000,000 5,000
202 04| 2,400 2,400 0
01 = LH 4 B 2,400 2,400 0
O &2 0 Hl 2,400,000 2,400
203 YR =&H| 1,800 2,000 A 200
03 AHF=RLRF=AY 1,800 2,000 A 200
O=2stMae g2 1,800,000& 1,800
206 M = Hl 8,400 8,400 0
01 M= bl 8,400 8,400 0
S3H ¥ A7 P 700,000& *12& 8,400
301 dEtE A= 450 500 A 50
09 HALAHIEA = 450 500 A B0
OSSN A2tEsdH 450,000& 450
307 212t01 & 72,000 57,500 14,500
Al 72,000
02 AI2tAAMAIE E =X 72,000 57,500 14,500
OREMN 5 BESAEY 66,000, 000& 66,000
Al 66,000
ORE =3 2M 6,000,000 6,000
Al 6,000
401 Al HI YL 2 0HHI 60,540 60,540 0
01 A& HI 60,000 60,000 0
O23M w2+ 60,000,000 60,000
03 Al& 201 Y] 540 540 0
OZ3M HANE= 60,000,000& *0.9% 540
xS oA 89 59,452 53,957 5,495
Al 29,726
= 29,726
101 @121 39,272 23,777 15,495
Al 19,636




EX: S22
M 2l 22
S 2N 22 (&2 &)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
= 19,636
04 JIZtHIZ22NSE S 39,272 23,777 15,495
OUASH A 2H(2H ,68)
39,272,000 39,272
Al 19,636
= 19,636
201 et A | 20,180 20,180 0
Al 10,090
= 10,090
01 At 22l ] 12,740 12,740 0
Obt=ZH| 10,700
ORoAdHl AlAH 150,000& ~12& 1,800
Al 900
= 900
(@F~Y==R— = yel 500,000& x12& 6,000
Al 3,000
2 3,000
OBIEA U AYHARE 9
200,000& x12& 2,400
Al 1,200
= 1,200
OdsIxE HA 500,000& *13] 500
Al 250
= 250
(©FIpNE= 2,040
Od%LI Xz 50,000& *1CHx12& 600
Al 300
= 300
O=2A Xtz 120,000 x1CH*12& 1,440
Al 720
iy 720
02 35244l 7,440 7,440 0
03322 % MA 3,840
O3 200,000 x12& 2,400
Al 1,200
= 1,200
Quadl=ER22 60,000& x12& 720
Al 360
= 360
Oske= 60,000& =12& 720
Al 360
iy 360
OANEEH |XNEx 300,000& 128 3,600
Al 1,800
= 1,800
S SE2e MM 2SAY 128,660 111,160 17,500
Dl 64,330
Al 32,165
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95,378
66,500
14,250
14,628

30,324

65,054

207 &1 JH & H|

M= W

60,000
42,000
9,000
9,000

60,000
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Mo
440l
12
=

S 4548 =M

60,000,000

M= W

60,000

60,000
42,000
9,000
9,000

60,000

401 AIEBIZ S CHYI

H = W

35,378
24,500
5,250
5,628

30,324

5,054

01 Al&HI
OFSHIIES (A 8)a A2l Aty 35,000,000&

03 Al S THHI

oOdAIIES(AS)&A 22
35,000,000 =1.08%

M=

35,000

35,000

24,500
5,250
5,250

378

378

30,000

324

5,000
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=
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M=

20,245,210

6,825,000
6,696,000
6,724,210

2,100,000

18,145,210

207 & 51 JH & H|

M= W

200,000
140,000
30,000
30,000

200,000

200,000
200,000

200,000
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28,000
6,000
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OBOIE=HX ANZZEAM 8% 160,000,000 160,000
112,000
24,000
24,000

M=

M =4

401 AIEBIZ S CHYI 20,045,210 2,100,000 17,945,210
= 6,685,000
Al 6,666,000
[Ea 6,694,210

01 A& HI 20,017,000 2,100,000 17,917,000
OAAEE S EHIAE 20,017,000

OS2 (s4H) EXN0HLY
1,000,000, 000&

.

,000,000
700,000
150,000
150,000

Oldsd |49 =Z=+FHdl 700,000,000& 700,000

490,000

105,000

105,000

M=

AL

= W
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,830,000
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4,517,000,000& ,517,000

,355,000
,581,000
,581,000

02 Zelbl 23,800 0 23,800
o Zeltl 23,800,000& 23,800
03 Al S THHI 4,410 0 4,410
OAIE2 24l 4,410,000 4,410

H = W
NN

SIKNE 2 M (2= S AMA AZ0HEHY) E+F 87,000 463,674 N 376,674
af
43,500
43,500

H =

401 AIEHIZ 2 I 87,000 463,674 N 376,674
Al 43,500
43,500

HJ

01 A& dl 87,000 442,000 A 355,000
O & HlHI A AEHESH 87,000,000 87,000
Al 43,500
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401 AIEHIZ 2 I 758,751 794,347 A 35,596

Al 377,000
381,751

M

01 A& HI 754,000 790,000 A36,000
O S Akt 754,000,000& 754,000

Al 377,000
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O S AtHl 34,000,000& 34,000

17,000
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fAH: S2st22 1
M 23 2el
el 223 BE2e (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
| o 21,000
SN2 HEEALS 60,000 36,000 24,000
= 30,000
Al 15,000
s 15,000
307 glz2tol & 60,000 36,000 24,000
= 30,000
Al 15,000
s 15,000
02 It M AHE L 60,000 36,000 24,000
OX <2 SN S(#@)otCh
60,000,000 60,000
= 30,000
Al 15,000
fia 15,000
STEOIM 2MHE U8 23 A 117,918 0 117,918
Al 58,500
s 59,418
401 Al HI K 201 I 117,918 0 117,918
Al 58,500
s 59,418
01 A& HI 117,000 0 117,000
(©OF=W; (=] 15,000, 000& 15,000
Al 7,500
[ia 7,500
O ZAtHI 102,000, 000& 102,000
Al 51,000
s 51,000
03 Al 2 THHI 918 0 918
OAIE S HHI 918,000& 918
dEEE Hs 2A 187,402 147,092 40,310
= 32,556
Al 45,223
i 109,623
Zotse BEXA 83,090 76,000 7,090
Al 28,945
i 54,145
307 glz2tol & 83,090 74,000 9,090
Al 28,945
i 54,145
02 It M AMHEE 83,090 74,000 9,090
O&EAY GHAH ¢ 4,400,000 4,400
Odetn EMn 14,000, 000& 14,000
odz& FERE =
3,000,000& 3,000
O’z | JIz¢H 3,800,000& 3,800




fol ton
R
U]
=1

=23 22l
HE2s Hs oA (B9 ®R)
SA BB (SH) - NRAY - B ﬁlgﬁ HRE2
oNEsEd(ddd ) MSME Hegwa
46,890,000 46,890
Al 23,445
2 23,445
ORE2 MASZ = 11,000,000& 11,000
Al 5,500
= 5,500
MNE MAA XK 39,200 39,200 0
307 QI2t0| & 39,200 39,200 0
02 QI2tAMAIE E =X 39,200 39,200 0
oA AN 7,200,000 7,200
OB N &S 2,200,000& 2,200
OEZEA X 1,700,000 1,700
O&Fa A Al 1,700,000& 1,700
OHRASS AN 2,100,000& 2,100
O&s°92 Hdal 2,800,000& 2,800
OEIEA etz 2,900,000& 2,900
OHBALMA 1,900,000 1,900
O&F=Z2 0|0« 1,700,000 1,700
oO&sg8 &2 &Ml A 15,000, 000& 15,000
HENE SHAAE 35,112 31,892 3,220
= 17,556
Al 8,778
= 8,778
401 A& HI L 204 HI 35,112 31,892 3,220
= 17,556
Al 8,778
= 8,778
01 Al&H| 35,112 31,892 3,220
O& S AHE ST Al 35,112,000 35,112
= 17,556
Al 8,778
= 8,778
NEAME E4£HH| 30,000 0 30,000
= 15,000
Al 7,500
= 7,500
402 IV X201 & 30,000 0 30,000
= 15,000
Al 7,500
= 7,500
02 IZtXIE2AISE &2 30,000 0 30,000
OXY A HRA HE =2 A 30,000,000 30,000
= 15,000
Al 7,500




2N

PSP é FXH 2tel
oo HE23 M 2y (29 a8)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2

| | | = 7,500

Z2XE L 22T O 10,528,072 49,184,379 N 38,656,307
= 50,000
as 149,000
Dl 150,000
Al 472,000
= 9,707,072

22=2 L SHAA 1,391,500 1,314,100 77,400
Al 200,000
= 1,191,500

22 =8 2 245 239,000 289,600 A 50,600

201 L2 | 224,800 231,000 16,200

01 At 22l Yl 216,800 216,000 800
ogx2d =22 M 147,600
OHIOE A= 2530 3,000& *18,000% 54,000
Oogsxad St & 1,200& *24,0005 28,800
OY LT A AT & 1,200& *24,000% 28,800
osJlot2 g2 1,200& *15,000% 18,000
OU&ER 33 EE2 1,200& *15,0005% 18,000
o2& = H=20HAHE 20,000,000& 20,000
o3 &It 12,300,000& 43| 49,200

02 332494l 8,000 15,000 A7,000
O3J10t2 EHOIX FAE4H| 5,000,000 5,000
OB4&0t2 EHOIX SAE4H| 3,000,000& 3,000

202 04| 3,600 3,600 0

01 2LHOHI 3,600 3,600 0
O=UWe &3 &It 3,600,000 3,600

203 € R =&lY| 2,000 2,000 0

03 Al =X H 2 =X Y| 2,000 2,000 0
OANMFTANALRFA 2,000,000 2,000

310 =2/ 01 & 3,600 3,000 600

02 2HEE=2 3,600 3,000 600
OTPOH 3 Hl & &8 3,600,000 3,600

405 XtabFE SHI 5,000 0 5,000

01 AL 2 EF SHI 5,000 0 5,000
OZetd™ K= A 5,000,000 5,000

SFAZ NS =2 120,000 0 120,000

201 LEtE2 Y| 80,000 0 80,000

01 At 22l Yl 60,000 0 60,000
O2F&Z NS 40,000,000& 40,000
O2FAHYIT E HMH = 20,000,000& 20,000
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fAH: S2st22 1
HE: DPIE Y IR R
&€ 22sE 2 SHMAH cet )
SN HH-S(BN) - MBAY - B il HlnE2
201 Le-2d| 7,700 7,700 0
01 At 22l 7,700 7,700 0
egay 7,700
OSIISHEAVSE Fu+g
70,0003 x22H x53] 7,700
301 et A3 4,800 4,800 0
09 HALAHIEA S 4,800 4,800 0
OF X% 2+=H s
100,000 *8H 3 x23] 4,800
307 glz2+ol & 700,000 884,000 A 184,000
Al 200,000
i 500,000
04 QIZFHALAIH B = 700,000 884,000 A 184,000
SMSII=H 700,000,000 700,000
Al 200,000
s 500,000
=HEEFEM UF 8,000 8,000 0
201 L2l 8,000 8,000 0
01 At 2teltl 8,000 8,000 0
2RSS gl (8FRocE2)
2,000,000& 2,000
HAIZE THZHI 6,000,000 6,000
Z2A 29 L AME=S 22 ,387,409 1,768,865 A 381,456
| 100,000
Al 152,500
s , 134,909
dotol==22 2 & 2l 829,993 1,388,996 A 559,003
Al 102,500
s 727,493
101 @124l 117,089 113,280 3,809
04 JIZHHZ2Z2XNHESE S 117,089 113,280 3,809
O&dtof =2 H A 97,363
OJdles 69,1503 x 10«82 56,703
OFg=aY 69,1503 x 10 x40 27,660
O Shl 5,0003 x10H 82 4,100
O= &l 5,000& x10H 82 4,100
O&E=g 4,800
. BHS X 40,0003 x 108 43 1,600
. Z=HIE 80,0003 x 10 x4 & 3,200
Odl==2& B4 A= X2 4,823
OJles 66,8003 1«44 2,940
Oxgsd 66,8003 x 1«18 1,203
Oul SH| 5,000& »1H 44 220
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2N
X ZH -
L= B

el

R M

Stk
2UE E 2FTE N
2X 249 & ANEE 22l

M. 0 (3H) - HEAY - B2 ﬁlf& HD=2
OEdH UX 5,000,000& = 1CH 5,000
OZHOIY LX(AELE AA=A)
3,000,000 *2LH 6,000
Odlltel =HE ATV & Xt 5,000, 000& = 1CH 5,000
Odfldiol==2d Fx2d AXt
6,600,000& «3CH 19,800
Al 10,000
= 9,800
02 3524l 57,768 58,828 A 1,060
02222 <2 MA 41,800
OA&EZ2 28,800
o MIIe3 1,600,000& ~12& 19,200
, AEERE 800,000& ~12& 9,600
OYAISEA (1) 6,000
, M3 3,000,000& 3,000
=CR3 3,000,000 3,000
O2s=0lA4 2,000
. MIIe3 2,000,000& 2,000
Ol+=s5& B&=z 5,000,000& 5,000
O Xt A ghHy| 15,968
OFxH FRFH(HLESR)
1,562& %1504 =60 13,968
OFxHE FANES 2,000,000 2,000
03 A2 H H| 20,000 20,000 0
OISt ==& HEA 20,000, 000& 20,000
307 Q12t0| ™ 11,320 11,320 0
02 At AMAEE =X 11,320 11,320 0
OXotil+==& =H 2 HU At
4,000,000& 4,000
OXotofl ==& =& SHHA™H L EAH(FX)
HE 2,000,000& 2,000
OXotelHP2AMME L oHIrel XA
5,320,000& 5,320
401 Al HIL 201 130,000 662,448 N 532,448
Al 35,000
= 95,000
01 Al&H| 130,000 660,000 530,000
Odfntel gXsEs 22y 4l 70,000,000& 70,000
Al 35,000
= 35,000
OMHANAEZE RAES 60,000, 000& 60,000
405 XtabF S| 900 2,000 A 1,100
01 JHMY 2= EF S H 900 2,000 A 1,100
oZxd MEIl 2 450,000 = 1CH 450
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EX: S22
HE: DPIE Y IR R
SRl BBX 2Y Y A& 22 CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
OMHFEAIA TV 2 450,000 =1 CH 450
2F NotollH =H 55,000 55,000 0
307 giztol & 55,000 55,000 0
04 DIZ2tSHALALS B X 55,000 55,000 0
OosF Kot =H 55,000,000 55,000
22X AEE A2 302,416 324,869 N 22,453
201 et | 38,560 32,800 5,760
01 AR 22l ] 10,000 10,000 0
OA&ER22ANS S MHE 10,000,000& 10,000
02 2=2=24%H| 28,560 22,800 5,760
OUSANEE 2223 9,480,000& 9,480
OSNMETHE 222=2 ¢ HMA
19,080,000& 19,080
309 =2 193,856 222,069 N28,213
01 BAl- SHIAMNEE= 193,856 222,069 N28,213
OBHAAMNNTEZ 193,856,000 193,856
401 Al HI L 204 HI 70,000 70,000 0
01 Al&H| 70,000 70,000 0
OZZHHEXE SXNEF 70,000,000 70,000
Hstol= HIOIFHE 108 220D ASAIY 200,000 0 200,000
J| 100,000
Al 50,000
= 50,000
401 AlEHIZL £ 0HY| 200,000 0 200,000
J| 100,000
Al 50,000
= 50,000
01 Al&H| 200,000 0 200,000
O24 XGtollE BFINA AFY  200,000,000& 200,000
J| 100,000
Al 50,000
= 50,000
)]0t 4,458,404 1,679,175 2,779,229
= 50,000
hag 149,000
J| 50,000
Al 119,500
= 4,089,904
208 &9 743,075 712,403 30,672
101 @1 21| 115,995 142,627 N 26,632
04 JIZtHIZ22XNSESES 115,995 142,627 AN 26,632
osJ|0t2 89 ¢ 22 115,995
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fAH: S2st22 1
B 2ENE Y I Y
& 37108 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OPIR== 66,8003 x6H x166 66,533
Osg=+% 66,800 x6H 77 30,862
O= &l 5,000 x6H x166 4,980
Oun &t 5,0003 x6H «166 4,980
O=&E=g 5,760
. BHSX 40,0003 «6H «82 1,920
. Z=HIE 80,0002 »6H +8& 3,840
OZEFOtHI 400,000 x6 % 13| 2,400
Ol =t 80,0003 x6H 13| 480
201 £B-2dH| 460,080 58,240
01 Al 22/ 324,780 54,240
oLt~ 313,980
ORAHIED =2 (4)D)
750,000& x12& 9,000
OFINAHEEHZ (3MA) 300,000& =122 3,600
OALYUHMEAHZ (ML) 300,000& »12& 3,600
OSYINAHEMEHAS(2IH4) 350,000 *12€ 4,200
Osggrze8d =2  420,000& 1228 5,040
O2Jlza BB 448
2,000,000& =103l 20,000
O3J/0t M= &228% =2
2,000,000& =103l 20,000
O=&1 % | A=H 12,000, 000& 12,000
Og2 - ol elEH A 20,000,000& 20,000
OANREE 2¥ 200,000& 128 2,400
Oaxnl 488 72¢ 200,000& »12& 2,400
O#AE =2 M 60,0003 *x2JH x 128 1,440
OMEd M& 30&*10,00004 123 3,600
OMEz HEZH =8 150,000& = 12& 1,800
20086 XNz +5 10,000, 000& 10,000
O3l RS2 MH
100,000& x50 4 5,000
O3t 22ZF(HE3s, 33 ) #¢
600,000 =128 7,200
O4st)l 8 2488 ¢
00,0003 *3J4 2 23] 1,800
OZH s5(100L) 72 800,000 *3JH A 2,400
Oo3Jlgts2 82 2¢ 600,000& 20K 12,000
o280 g8xlzgd 50,000,000& 50,000
OF A&, JtOral LED(AS) WM (10000 A)
7,000,000& 7,000
Ogfs& Rcld S242= WA 7,500,000 7,500
Ogtsdd7xtg & F2ME 2¢
2,000,000& 2,000
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Zst2-Z
2H2AE L 2FTE N
SJ10t= ool E )
SN BA(SA) - MRAY - BES il HImEET
SIEQ FNI=Es HY 100,000, 000 100,000
ogxz 10,800
OS A (Z2et=&21) 200,000& 10 A+128 2,400
O& =7l 50,000& 501 12 3,000
O3J/10t2 stFEAHIO 30,0002 «110H«122 3,960
O3J1& &I 40,0003 =301 12 1,440
02 =24l 135,300 131,300 4,000
0332 % HAl 96,300
Odste=s 400,000& 123 4,800
o&IIe3 4,800,000& +12& 57,600
O3 1,000,000& »12& 12,000
O&EAIIARZ 1,800,000& »12& 21,600
OAhst=etE228 3 A3l 300,000 300
O A& ZEHl =X bl 39,000
ONMEE SN+ 10,000, 000& 10,000
OgaHy 500,000& *43] 2,000
O&a2D EHE=+ 1,500, 000& »4CH 6,000
O3J10ts AlI8E 28 & 7,000,000& 7,000
Ogfsat d - 4y I Fa 4,000,000& 4,000
Ootataiol2 Jtote = 6,000,000 6,000
ogazyeE 1,000, 000& »4CH 4,000
206 M= Hl 47,000 27,000 20,000
01 M= 4l 47,000 27,000 20,000
OMEuns 2BJ& ¢ 7,000,000& 7,000
O=2J13& =37 40,000,000& 40,000
401 Al HI K 2018 77,000 130,936 53,936
01 A& Hl 77,000 130,000 A 53,000
O3JI0t2 ANEE |RXE=> 60,000,000& 60,000
ootztalol2 HWa ds 17,000, 000& 17,000
405 XtatE SHI 43,000 10,000 33,000
01 AL ESFH S 43,000 10,000 33,000
oS AA EDEAMCIAEHO EX 2
40,000,000& 40,000
ootatdior2 2 X = 60,000& 504 3,000
SFUsSRES 29 252,129 383,772 A 131,643
101 @14 Hl 19,253 0 19,253
04 JIZHHZ22XRHEE S 19,253 0 19,253
osxFosesz2 29 19,253
OJdles 66,8003 x 1 166 11,089
Osg=g 66,8003 x1H »77 5,144
O= &l 5,0003 x 1 «166 830
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2AMd: 2322
Hu: pEIE Y BENE HY
& 37108 (&)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
mE=4.] 5,0003 x 18 166 830
OP == 960
. BHS X 40,0003 x1H 88 320
. EHIE 80,0003 x1H +8& 640
OZFEFItHI 400,000 x 18 x13] 400
201 L2l 200,476 46,596 153,880
01 At 22l 155,076 12,996 142,080
O el 150,996
ORoZHEY =2 473,000& =12 5,676
OMIItdE A= 150,000& 128 1,800
OAgotdEAZ 150,000& 128 1,800
OsZdIIdFE= 150,000& 128 1,800
OZHO0IXN |RXNEx+ =2 50,000&+12& 600
oZzEHE 3tz 7 1,000, 000& 1,000
O=Z1 ¥ R= a=H| 8,000,000 8,000
Os8 -2l O=0 2= WA
20,000,000& 20,000
OMNEEE 7Y 100,000& = 12& 1,200
OL7L ARE 7Y 200,000& x12& 2,400
OdALE &9 M 60,000& 1123 720
OJIEE™Al 28 = W 20,000,000& 20,000
O&Al g2 & HAE HA 40,000,000& 40,000
O2=x0ts sH 24 JI=ss HA
5,000,000& 5,000
omg £ M2 HEH 20,000,000& 20,000
O&E HH 20,000& x1,000% 20,000
Otz & M2ME 7Y
1,000,000 1,000
ogxz 4,080
O=AJ Ex=z 200,000& x12& 2,400
O&F=J gx=z 50,0003 *2CH 123 1,200
O3JIEEI ¢tz 40,0003 «1CH+128 480
02 323l 45,400 28,600 16,800
03223 % HA 31,900
OoNIIe=a 2,000,000& x12& 24,000
O&ot=E23 500,000& »12& 6,000
ONsleaza 50,000& x12& 600
ORER3 1,000, 000& 1,000
OAhet=etE2 283 A3yl 300,000 300
O A& ZEHl®XlHl 13,500
ONEE SAE= 5,000,000& 5,000
ogdiaA 1,000,000& 1,000
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fAH: S2st22 1
My BEIE L IR N
Sl 2I10t2 EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O&XRII =2l & KRANE= 2,000,000& 2,000
OANMES 2/¥ Ea 3,500,000& 3,500
Od - I 02 Ea 1,000, 000& 1,000
O4AmE HS=H 1,000,000 1,000
301 LA Z 32,400 0 32,400
12 JIEtE& = 32,400 0 32,400
O=Zstof At =& 50,0003 «2H»27L 128 32,400
So|egsa EEI2TA 126,200 0 126,200
201 Zer24] 126,200 0 126,200
01 At 2t 2l 125,000 0 125,000
o3Jlwsd SEH 25,000,000& x53| 125,000
02 2324l 1,200 0 1,200
O0z22= & HA 1,200
OsE28 ¢& fERS 100,000& 12 1,200
230t s g 82208 29 & 100,000 0 100,000
=2 50,000
Al 25,000
e 25,000
307 glz2tol & 100,000 0 100,000
2 50,000
Al 25,000
i 25,000
02 QB AAHFEX 100,000 0 100,000
O=2JI10t8 W =220 100,000, 000& 100,000
2 50,000
Al 25,000
s 25,000
SII0S ALHEE A5 ALY 2,610,000 0 2,610,000
201 Let24d] 10,000 0 10,000
01 At 22l 10,000 0 10,000
O R-IEet=:]l 10,000
OCZFEI}N =8 3,000,000& =33l 9,000
OO0 Y =2 X AtHI 1,000, 000& 1,000
401 Al HI K 201 I 2,600,000 0 2,600,000
01 A& HI 2,600,000 0 2,600,000
OSJI10t2 AtHZEE HAs AHY 2,600,000
OEXNNMY £ 24 2,600,000, 000& 2,600,000
S3JI0tS 6RAY Z2HE 298,000 424,000 A 126,000
s 149,000
Al 74,500
i 74,500
307 21201 A 298,000 74,000 224,000
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EX: S22
M AZBANNE L 22T Y
& S0t (e H)
. _ = SfE|
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
Fag 149,000
Al 74,500
= 74,500
02 QIZFAAAIE E X 298,000 74,000 224,000
ONES)II0I=S 6AAIYE TZME
298,000,000& 298,000
g 149,000
Al 74,500
o 74,500
2|0t M E0t0F S A 60,000 60,000 0
307 2iz2tol & 60,000 60,000 0
02 QIZ2FA AAIE E X 60,000 60,000 0
OSI0ISEESIH0F THE & A 60,000,000 60,000
2|0t Eg 210" 170,000 0 170,000
J| 50,000
Al 20,000
= 100,000
307 QI2t0| ™ 170,000 0 170,000
J| 50,000
Al 20,000
= 100,000
04 CIZ2tSHALAIS B X 170,000 0 170,000
osJ|0t2 Et ¥ 170,000,000 170,000
J| 50,000
Al 20,000
= 100,000
NEB0ag =4 99,000 99,000 0
201 2eted 39,000 39,000 0]
01 AP 22| 39,000 39,000 0
Ot 2H| 11,000
OZ20Z =3&dAlI3 &9 HE
200,000 *30H 6,000
OZ2028B =3I&A EE 2|2
2,500,000 *23| 5,000
oYxz 28,000
O&AMNE Xz 12,500,000 *23| 25,000
OZE 261 Adx2 1,500, 000& «23] 3,000
307 QI2t0| ™ 60,000 60,000 0
02 QI2tAAMAIE E =X 60,000 60,000 0
osF2 B0E A 30,000,000 30,000
O2F2 203 ol &EAZ 30,000,000 30,000
HEN AALS 22X 150,569 43,730 106,839
AEAT A T FAIS23 HZASE =8 100,000 0 100,000
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AN 23220
Ny BEIE Y RN Y
SR MSW AAS 22X (22 &d)
A - ER(EN) - AR - B of & o4 SSa HIDZ2
201 fEt2E | 9,000 0 9,000
01 At 2t 2l bl 9,000 0 9,000
O=dlZ N & IS HMH
1,200& =7, 50004 9,000
401 AIEBI L 2 CHEI 91,000 0 91,000
01 A€ Hl 91,000 0 91,000
O=dZ ¢ & SHALE S &1
91,000,000& 91,000
24 d0S JE2 29 50,569 43,730 6,839
101 124 4] 29,189 17,670 11,519
04 JIZAtNZ22XNSE+ 29,189 17,670 11,519
O=2H detlts JIga 8 29,189
oJza 66,8003 x2H 1252 16,700
Oxg=+¢ 66,8003 x2H x582 7,749
O=gtl 5,000 x2H «1252 1,250
Ou SH| 5,000 x2E «125& 1,250
Od&s=+¢ 1,440
N 40,0002 «2& 6 480
. EHIH 80,0003 x2H «6& 960
OEEF I 400,000& 2 * 12 800
201 L2 | 21,380 26,060 4,680
01 At 22l bl 11,320 16,000 A 4,680
Ooget=gH| 11,320
OSEHNSE & 4258 7¢
100,000& =12& 1,200
OMNREE 7Y 100,000& »12& 1,200
O82= HMH 3,000,000& 3,000
oovo +¢ 1,000, 000& 1,000
OfoZH =2 160,000& =123 1,920
(OFSIPIRUFSIESEE=y=d 100,000& ~12& 1,200
O&8=J] Xz 50,000 x12& 600
Oz FLES & 223
100,000& =122 1,200
02 S3=9Hl 10,060 10,060 0
0=32= & HA 5,060
OFSPIRTS=, 300,000& x12& 3,600
Odol=x 23 20,000 x12& 240
Odsstas 60,000 x12& 720
O2g S HMA 500,000& 500
O A& &l s Xlbl 5,000
OANEE RANE=> 5,000,000& 5,000
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2N
X ZH -
L= B

el

(R = I

Stk
2UE E 2FTE N
otz & Xt st

5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Ab ot k& T+ 3t 3,140,190 44,378,509 A41,238,319
g A ptortd OtAHSH 515,820 968,820 A 453,000
201 Let24d] 130,000 30,000 100,000
01 At 22/l 100,000 0 100,000
oggeLoAs NNt 2588 F4H 100,000
OosE= & 50,000,000& 50,000
Os&ea &1 ¢ 29 50,000,000& 50,000
03 & Ar2 Z I 30,000 30,000 0
OggLo A Sttwa 2 15,000,000 23! 30,000
202 (44l 70,820 98,820 A 28,000
01 S LHOIYI 8,820 8,820 0
O&2 o dl 8,820,000 8,820
04 =Xl =t Hl 62,000 90,000 A 28,000
Ode 2243 OHAHE =& S
7,000,000& x3H +23| 42,000
Oollel &3 It S
2,000,000& »4H »23| 16,000
O2F7 203 AT AIE FHIt
2,000,000& 2% x 13| 4,000
207 A O &l 300,000 340,000 A 40,000
01 2284 300,000 340,000 A 40,000
SFED A EID BERWY ZEHY 28 29
300,000,000 300,000
307 21201 A 15,000 0 15,000
04 DIZHHALALSE E X 15,000 0 15,000
OZgLdoA Ef 4Dl T2
15,000, 000& 15,000
gaaT A HFHO0ISI AL (AHIHB]) 7,000 34,756,000 A 34,749,000
201 Let24d] 3,500 33,500 230,000
01 At 22l 3,500 3,500 0
O3S A& 70,000& x10& x53] 3,500
301 et d s 3,500 3,500 0
09 HALAHIEA S 3,500 3,500 0
ONEZ& EFAAH 70,0003 x10Y «53] 3,500
dgLgo A SFAAFEH 29 1,525,823 1,417,694 108, 129
101 @124 dl 329,503 302,574 26,929
04 JI12ZtHZ22HEE =+ 329,503 302,574 26,929
O=Sg&dZHH Fa 155,060
OJles 66,8003 x8H » 166 88,711
Osg=+¥ 66,8003 x8H 77 41,149




2N 2SR
Ny BEIE Y RN Y
SH9l: AOIPHE KRS (B9 ®R)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
O= & 5,000& *8H 166 6,640
[@FnE=3:]| 5,000 *x8H x 166 6,640
OIESY 7,680
. BH S Xt 40,0003 8 »8& 2,560
. =HI& 80,000& x8Y »8& 5,120
OY &=ty 400,000 x8H 13| 3,200
Ol =t 130, 000& *8H x 13| 1,040
OLITAAUDO 2 (270 2) 174,443
(OPIR==1 66,800 x9H 166 99,800
Osgxd¢ 66,800 *9H x77 46,293
O=&tl 5,000 x9H x 166 7,470
OuWE| 5,000& x9H 166 7,470
OiIEx=Y 8,640
. BH S Xt 40,000 9 »8& 2,880
. E=HIH 80,000 x9H «8& 5,760
OY ZE I 400,000 x9H 13| 3,600
Ol =t 130,000& 9 13| 1,170
201 LEr2 Y| 841,000 615,600 225,400
01 AP 2t2l bl 564,800 422,000 142,800
OBt 2H| 554,000
OMEES 7Y 250,000 x12& 3,000
OHdH 2923 £ 222 7Y
1,000,000 x12& 12,000
Ost&EA &I 8 7 600,000& ~12& 7,200
O#xEE ¢ 400,000& x12& 4,800
O A2F 2 1,000, 000& *43] 4,000
OsxHESE 7Y 500,000& x12& 6,000
O&I &8 272 =4t 300,000& ~12& 3,600
oot 222 M 30,000, 000& 30,000
OdXZHAMHE A AHES 1,000,000& *12& 12,000
OSSR M 2HEHI} =2 1,400, 000& 1,400
OYd &HIIEAM =2 2,000,000& 2,000
OCCTV A2 29 300,000& ~12& 3,600
OROHHAIALE X242 249
800,000& ~12& 9,600
Oattord2Ae|Hd 24 400,000& x12& 4,800
OdJ|etdeIeY 24 400,000 x12& 4,800
Osd)l A2 29 400,000& x12& 4,800
OlstHsS 300,000& x12& 3,600
oxgdaesd 300,000& «12& 3,600
OLITAAUION EHANAEY SRANEX 2824
800,000& »12& 9,600
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fAH: S2st22 1
B 2ENE Y I Y
ol Arorar X} 2 3t (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OLITAAUDO SI=UHE 2SS
1,300,000& »12& 15,600
OLOTAANUIOH SEHHSA B3
3,000&+10,000H 123 360,000
OLITAANUIOH SAHEZ F2
2,000,000& =44 8,000
OZHM2c0/YHH RIEZ(AHEE )
- 6,000,000& x53| 30,000
O=HMZE012dy 28 FJ&8d
5,000,000& »23| 10,000
ogxz 10,800
O&=7| 50,0003 «5CH 123 3,000
oA3toladel 600,000 = 1CH =32 1,800
OALEHI(MS2 S) 1,000,000 *2CH 33 6,000
02 =24l 241,200 158,600 82,600
o0z22= % HA 181,200
Odst 5 SHE= 600,000 =128 7,200
o&IIe3 8,000,000& x12& 96,000
Ododl=ER=a 5,000,000& x12& 60,000
OXNEMEZM b 18,000, 000& 18,000
OA4&EHl Sl 60,000
OANM&EES SX2tl 5,000,000& x12& 60,000
03 A2 Z Hl 35,000 35,000 0
O=sgdZdH 2& 223l 17,500,000 *23] 35,000
401 Al HIL 2T 352,520 352,520 0
01 A& HI 350,000 350,000 0
O=SEAZHH AELEH A 350,000,000 350,000
03 Al 2 THHI 2,520 2,520 0
O=SgdZdE AEZHSA 201l
350,000,000& *0.72% 2,520
405 XHoHF S HI 2,800 55,000 A 52,200
01 AL ESFH S 2,800 55,000 A 52,200
OFZ M AHIEt DI 800,000 = 1CH 800
OFSE=F=EAP 400,000& +50H 2,000
YUATA BIHU SLEHEH 2Y 466,555 334,178 132,377
101 @124l 271,355 249,178 22,177
04 D12t 22 HEE =+ 271,355 249,178 22,177
OB RFHEH 2ERA 271,355
OPIR-= 66,800 14 x166 155,244
Osg=+% 66,8003 x14H 77 72,011
O=&tl 5,000 *14H x166 11,620
Oun &t 5,0003 «14H «166 11,620
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2N S22
Ny BEIE Y RN Y
SR A2 XA S (&2 &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
Oons< 13,440
. B Xt 40,000 *14H «8& 4,480
. =S 80,000& *14H =8 & 8,960
(@F=FSE=l 5] 400,000& *149¥ *13] 5,600
O = 130,000& *14H 13| 1,820
201 et A | 195,200 70,000 125,200
01 AFR2t2l Yl 155,200 70,000 85,200
O Bt=gH| 155,200
OelE2% s ol 222 H& 15,000,000 15,000
OJIZEL &3 7Y 50,000, 000& 50,000
ONMEANE 28 A28 7¢
700,000 x12& 8,400
OARIES L SMS MBIA AIE2E
150,000& = 12& 1,800
OEBS HEH AISZ 30,000,000& 30,000
OB Mg &2 105 50,000,000 50,000
02 33249l 30,000 0 30,000
OMEANAE EH SXNE= 30,000,000& 30,000
03 AL H b 10,000 0 10,000
O0IHE Y MEHA Z2 )8 29
10,000,000& 10,000
JAATA AMAAAMME 2D 25,000 6,501,817 N6,476,817
405 XtabF SHI 25,000 0 25,000
01 A&t = S F SHI 25,000 0 25,000
OAIRA &HIIHS 7 25,000
OJFR(zAH O HIOE ) 16,600,000& 16,600
O& a2 E(PC) 8,400,000& 8,400
EBS2t Mot S Xt &5 400,000 400,000 0
403 IR SHHSA201H 400,000 400,000 0
02 3I2SHCHSHA =2 A 2 AL B 400,000 400,000 0
OEBS2H Mot S22 ozt &=
400,000,000& 400,000
SgRAFLEH =E FH| 199,992 0 199,992
401 Al HIL 200 199,992 0 199,992
01 A& HI 198,700 0 198,700
O & Al 8,700,000& 8,700
(OF=INIs] 190,000,000 190,000
03 A& 20 Y| 1,292 0 1,292
OAN&=20UbI 190,000, 000& *0.68% 1,292
HHSHHH (222 ) 1,045,000 599,793 445,207
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fAH: S2st22 1
M HHS A (2TB )
thel: JEA2IH| (2522 0t) (Sl & &)
(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
e AH(23t22 1) 947,308 500,829 446,479
el dd (2322 1t) 947,308 500,829 446,479
101 @124l 923,210 486,549 436,661
01 2= 109,450 99,666 9,784
OAZAZ2E 11,4013 #50A1 2t+16H 128 109,450
02 JIEtE B == 813,500 386,623 426,877
OANZAZR=Z(LBHAIIH)
11,4013 «50A1 2t+2H 128 13,682
OSS(AMLEEIIH Ci=)
42,000,000 *3H 126,000
OSS(AMAEELIIH Ot=)
32,000,000& 15X 480,000
OE (AL EELIIH) 87,718
OPIE-E= 25,920
o WS X 40,0003 x18H 128 8,640
. EHIE 80,000 x18H «12& 17,280
OF M Z Al 130,000& 18H «12& 28,080
OXtHE ExH 33,718
. 1SsW 468,300 *18H x43] 33,718
OIS &l
606,000,000 *1/12%86%*84%*1/30*1/7*140Al 24,321
2t
OANZUAZ R (AL AIH CS)
10,299& *x25A1 2t x3H «12& 9,270
OANZLAZ R (AL AIIH 0t2)
8,357&3 *25A1 2t«15H 128 37,607
OS2 (ALEEHAIH Cixz)
42,000,000 / 122 84%*5%+3H 128 5,292
OSSN LY (AALLYIIN 012)
32,000,000 /122 x84%+5%* 159 12 20,160
OSE LAY (U SHI)
50,000 #35/40x18F »12& 9,450
03 RIHAZ 2 E =+ 260 260 0
Oo2J1gE2 AML2e¥ 1=l 260
o= 80,0003 1 %23 160
Oetd 3t 50,0003 1 %23 100
204 AR A H| 24,098 14,280 9,818
02 22 =4 24,098 14,280 9,818
OARFLAERADI M Ch
140,000& *35/40%3H « 122 4,410
OAEEAD|H Ot
125,000 *35/40%15H « 128 19,688
Jl2ddl(2st22n) 97,692 98,964 A1,272
Jl2dyl(2st2 &) 97,692 98,964 A1,272
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2AMd: 2322
M sENSAAY (2T
¢ Jl2du(2s&&n) (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
201 Le-2d| 37,332 42,144 AN4,812
01 At 22l 37,332 42,144 N4,812
O el 13,620
OSHMa2S 13,620, 000& 13,620
O= &l 8,000 x19H x 134 x 123 23,712
202 o4dl 54,720 51,840 2,880
01 = LH o4 1l 54,720 51,840 2,880
O 2L o Hl 240,000& *x19H 123 54,720
203 YR =2t 5,640 4,980 660
04 EA2IYRFLH| 5,640 4,980 660
ORNZ2EYRFA 470,000 123 5,640
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